

BID2025-41 CHESTNUT AVENUE REHABILITATION PROJECT FOR THE DEPARTMENT OF PUBLIC WORKS, TRAFFIC ENGINEERING - VIRTUAL BID OPENING DATE 4-24-2025 AT 11:00AM

NUMBER OF RESPONDENTS:	2	
NAME OF BIDDER	EARLE ASPHALT COMPANY	BLACK ROCK ENTERPRISES, LLC
ADDRESS	P.O. BOX 556	1316 EMGLISHTOWN ROAD
CITY, STATE, ZIP	FARMINGDALE, NJ 07727	OLD BRIDGE, NJ 08857
CONTACT NAME	BRIAN M. COOPER,PE VP OF ENGINEERING	JACQUELINE VALE
TELEPHONE	732-308-1113	732-967-6400
FAX#	732-308-1034	732-967-6002
E-MAIL ADDRESS	BCOOPER@EARLECO.COM	info@blackrocknj.com
BID GUARANTEE	FEDERAL INSURANCE COMPANY 10% W.P.O.A MICHELLE ANNE MCMAHON	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA 10% W.P.O.A. LISA NOSAL
CONSENT OF SURETY	FEDERAL INSURANCE COMPANY W.P.O.A MICHELLE ANNE MCMAHON	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA 10% W.P.O.A. LISA NOSAL
PERFORMANCE BOND	REQUIRED FROM AWARDED PROPOSER WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED PROPOSER WITH SIGNED CONTRACTS
LABOR AND MATERIAL (PAYMENT) BOND BOND	REQUIRED FROM AWARDED PROPOSER WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED PROPOSER WITH SIGNED CONTRACTS
MAINTENANCE BOND 2 YEARS	AWARDED PROPOSER SHALL SUBMIT UPON ACCEPTANCE OF THE WORK	AWARDED PROPOSER SHALL SUBMIT UPON ACCEPTANCE OF THE WORK
INTENT TO USE A SUB-CONTRACTOR	YES - STRAIGHT EDGE STRIPING, LLC	YES - STRAIGHT EDGE STRIPING, LLC
SUB-CONTRACTOR'S LICENSING	INCLUDED WITH BID	INCLUDED WITH BID
CONTRACTOR'S LICENSING	INCLUDED	INCLUDED
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED
PROHIBITED INVESTMENT ACTVITIES IN IRAN	INCLUDED	INCLUDED
PROHIBITED INVESTMENT ACTVITIES IN RUSSIA AND BELARUS	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF ADDENDUM - MANDATORY	INCLUDED	INCLUDED
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONAIRE	INCLUDED	INCLUDED
NON-COLLUSION AFFIDAVIT - MANDATORY	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	INCLUDED	INCLUDED
EIC	CERT# 5667 EXP. 12-15-2025	CERT#46690 EXP. 5/15/2027
PWC	CERT#18315 EXP. 5/5/2025	CERT#02/08/2027
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED
STATE & FEDERAL DEBARMENT CERTIFICATIONS	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED
EQUIPMENT CERTIFICATION	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED PROPOSER	REQUIRED FROM AWARDED PROPOSER
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES
THREE (3) REFERENCES	INCLUDED	INCLUDED
SEE ATTACHED TOTAL AMOUNT AND BREAK-DOWN OF UNIT PRICES FROM #1 - #32	277,013.13	\$290,000.00
EXCEPTIONS (IF ANY)	NONE	NONE
FATAL FLAW	NONE	NONE

**NOTICE OF INTENT TO SUBCONTRACT FORM
(MANDATORY)**

This notice of intent must be completed and included as part of each proposer's proposal. Failure to submit this form will be cause for rejection of the bid as non-responsive.

Please check one of the below-listed boxes:

If awarded this contract, I will engage subcontractors to provide certain goods and/or services.

ALL PROPOSERS THAT INTEND TO ENGAGE SUBCONTRACTORS MUST ALSO SUBMIT A COMPLETED AND CERTIFIED SUBCONTRACTOR UTILIZATION PLAN WITH THEIR BID PROPOSALS. PROPOSERS SHOULD ALSO SUBMIT A NEW JERSEY BUSINESS REGISTRATION CERTIFICATE FOR EACH SUBCONTRACTOR AS WELL AS ANY LICENSES HELD BY SUBCONTRACTORS WITH THEIR BID PROPOSAL.

If awarded this contract, I do not intend to engage subcontractors to provide any goods and/or services.

**ALL PROPOSERS THAT DO NOT INTEND TO ENGAGE SUBCONTRACTORS MUST ATTEST
THE FOLLOWING CERTIFICATION:**

I hereby certify that if the award is granted to my firm and if I determine at any time during the course of the contract to engage subcontractors to provide certain goods and/or services, I will submit the Subcontractor Utilization Plan for approval to the Business Administrator or his legal representative in advance of any such engagement of subcontractors. Additionally, I certify that in engaging subcontractors, I will make a good faith effort to achieve the subcontracting set-aside goals established for this contract, and I will attach to the plan documentation of such efforts.

Respectfully submitted by:



Signature

Brian M. Cooper, PE

Name, typed or printed

Vice President of Engineering

Title

Earle Asphalt Company

Name of Firm

PO Box 556, Farmingdale, NJ 07727

Business Address/Zip

(732) 308-1113

Telephone

(732) 308-1034

Fax

(Seal—if bid is by a
corporation)

**PROVIDE A LIST OF SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID**

(MANDATORY IF APPLICABLE)

NAME Straight Edge Striping, LLC

ADDRESS 201 Wilton Avenue

CITY, STATE, ZIP Middlesex, NJ 08846

TELEPHONE: (732) 302-3001

FAX NO. (732) 469-4812

TRADE Traffic Striping and Signs

LICENSE NO. N/A

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
1.	Breakaway Barricades		
20 Units	\$ 0.01 /UN Figures	\$ 0.20 Figures	
WRITE UNIT PRICE BID:	Zero Dollars and One Cent		PER UNIT
2.	Drums		
50 Units	\$ 0.01 /UN Figures	\$ 0.50 Figures	
WRITE UNIT PRICE BID:	Zero Dollars and One Cent		PER UNIT
3.	Traffic Cones		
50 Units	\$ 0.01 /UN Figures	\$ 0.50 Figures	
WRITE UNIT PRICE BID:	Zero Dollars and One Cent		PER UNIT
4.	Traffic Directors, Flagger		
240 Man Hours	\$ 87.28 /MH Figures	\$ 20,947.20 Figures	
WRITE UNIT PRICE BID:	Eighty-Seven Dollars and Twenty-Eight Cents		PER MAN HOUR
5.	Construction Signs		
150 Square Feet	\$ 1.00 /SF Figures	\$ 150.00 Figures	
WRITE UNIT PRICE BID:	One Dollar and Zero Cents		PER SQUARE FOOT

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
6.	Fuel Price Adjustment		
	1,200 Dollars	\$ 1.00 /DOL Figures	\$ 1,200.00 Figures
	WRITE UNIT PRICE BID:	One Dollar and Zero Cents	PER DOLLAR
7.	Asphalt Price Adjustment		
	2,200 Dollars	\$ 1.00 /DOL Figures	\$ 2,200.00 Figures
	WRITE UNIT PRICE BID:	One Dollar and Zero Cents	PER DOLLAR
8.	Clearing Site (<i>Maximum Bid of \$25,000.00</i>)		
	1 Lump Sum	\$ 24,713.68 /LS Figures	\$ 24,713.68 Figures
	WRITE UNIT PRICE BID:	Twenty Four Thousand, Seven Hundred Thirteen Dollars and Sixty Eight Cents	PER LUMP SUM
9.	Removal of Sidewalk		
	100 Square Yards	\$ 0.01 /SY Figures	\$ 1.00 Figures
	WRITE UNIT PRICE BID:	Zero Dollars and One Cent	PER SQUARE YARD
10.	Removal of Curb		
	150 Linear Feet	\$ 0.01 /LF Figures	\$ 1.50 Figures
	WRITE UNIT PRICE BID:	Zero Dollars and One Cent	PER LINEAR FOOT

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
11.	Excavation, Unclassified (if and where ordered)		
	200 Cubic Yards	\$ 0.01 /CY Figures	\$ 2.00 Figures
	WRITE UNIT PRICE BID:	Zero Dollars and One Cent	PER CUBIC YARD
12.	Excavation, Unclassified, Test Pits (if and where ordered)		
	10 Cubic Yards	\$ 0.01 /CY Figures	\$ 0.10 Figures
	WRITE UNIT PRICE BID:	Zero Dollars and One Cent	PER CUBIC YARD
13.	Dense-Graded Aggregate Base Course, 6" Thick (if and where ordered)		
	250 Cubic Yards	\$ 0.01 /CY Figures	\$ 2.50 Figures
	WRITE UNIT PRICE BID:	Zero Dollars and One Cent	PER CUBIC YARD
14.	Hot Mix Asphalt Milling, 3" or Less		
	3,600 Square Yards	\$ 8.90 /SY Figures	\$ 32,040.00 Figures
	WRITE UNIT PRICE BID:	Eight Dollars and Ninety Cents	PER SQUARE YARD
15.	Hot Mix Asphalt 9.5M64 Surface Course, 2" Thick		
	450 Tons	\$ 160.00 /TN Figures	\$ 72,000.00 Figures
	WRITE UNIT PRICE BID:	One Hundred Sixty Dollars and Zero Cents	PER TON

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
16.	Hot Mix Asphalt 19M64 Base Course, 4" Thick (if and where ordered)		
	150 Tons	\$ 40.00 /TN Figures	\$ 6,000.00 Figures
	WRITE UNIT PRICE BID: Forty Dollars and Zero Cents		PER TON
17.	Reconstruct Inlet, Type B, Using New Casting		
	15 Units	\$ 2,100.00 /UN Figures	\$ 31,500.00 Figures
	WRITE UNIT PRICE BID: Two Thousand, One Hundred Dollars and Zero Cents		PER UNIT
18.	Reset Manhole, Storm Sewer, Using New Casting		
	15 Units	\$ 1,300.00 /UN Figures	\$ 19,500.00 Figures
	WRITE UNIT PRICE BID: One Thousand, Three Hundred Dollars and Zero Cents		PER UNIT
19.	Concrete Sidewalk, 4" Thick		
	100 Square Yards	\$ 125.00 /SY Figures	\$ 12,500.00 Figures
	WRITE UNIT PRICE BID: One Hundred Twenty Five Dollars and Zero Cents		PER SQUARE YARD
20.	Concrete Driveway, Reinforced, 6" Thick (if and where ordered)		
	150 Square Yards	\$ 125.00 /SY Figures	\$ 18,750.00 Figures
	WRITE UNIT PRICE BID: One Hundred Twenty Five Dollars and Zero Cents		PER SQUARE YARD

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
21.	Hot Mix Asphalt Driveway, 3" Thick (if and where ordered)		
	100 Square Yards	\$ 40.00 /SY Figures	\$ 4,000.00 Figures
	WRITE UNIT PRICE BID: <u>Forty Dollars and Zero Cents</u>		PER SQUARE YARD
22.	Detectable Warning Surface		
	10 Square Yards	\$ 300.00 /SY Figures	\$ 3,000.00 Figures
	WRITE UNIT PRICE BID: <u>Three Hundred Dollars and Zero Cents</u>		PER SQUARE YARD
23.	8" x 18" Concrete Vertical Curb		
	150 Linear Feet	\$ 60.00 /LF Figures	\$ 9,000.00 Figures
	WRITE UNIT PRICE BID: <u>Sixty Dollars and Zero Cents</u>		PER LINEAR FOOT
24.	Traffic Striping, Long-life Epoxy Resin, 4" Wide		
	175 Linear Feet	\$ 2.25 /LF Figures	\$ 393.75 Figures
	WRITE UNIT PRICE BID: <u>Two Dollars and Twenty Five Cents</u>		PER LINEAR FOOT
25.	Traffic Markings, Thermoplastic		
	300 Square Feet	\$ 7.00 /SF Figures	\$ 2,100.00 Figures
	WRITE UNIT PRICE BID: <u>Seven Dollars and Zero Cents</u>		PER SQUARE FOOT

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
26.	Regulatory and Warning Signs (If and where ordered)		
	50 Square Feet	\$ 30.00 /SF Figures	\$ 1,500.00 Figures
	WRITE UNIT PRICE BID: Thirty Dollars and Zero Cents		PER SQUARE FOOT
27.	Reset Water Valve Box		
	15 Units	\$ 0.01 /UN Figures	\$ 0.15 Figures
	WRITE UNIT PRICE BID: Zero Dollars and One Cent		PER UNIT
28.	Reset Gas Valve Box		
	5 Units	\$ 0.01 /UN Figures	\$ 0.05 Figures
	WRITE UNIT PRICE BID: Zero Dollars and One Cent		PER UNIT
29.	Topsoil, 4" Thick		
	500 Square Yards	\$ 1.00 /SY Figures	\$ 500.00 Figures
	WRITE UNIT PRICE BID: One Dollar and Zero Cents		PER SQUARE YARD
30.	Fertilizing and Seeding, Type A-4		
	500 Square Yards	\$ 0.01 /SY Figures	\$ 5.00 Figures
	WRITE UNIT PRICE BID: Zero Dollars and One Cent		PER SQUARE YARD

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
31.	Straw Mulching	\$ 0.01 /SY Figures	\$ 5.00 Figures

WRITE UNIT PRICE BID: Zero Dollars and One Cent

PER SQUARE YARD

32. Allowance for Work Not Specified

1 Allowance	\$ 15,000.00 /AL Figures	\$ 15,000.00 Figures
-------------	-----------------------------	-------------------------

WRITE UNIT PRICE BID: Fifteen-Thousand Dollars and Zero-Cents

PER ALLOWANCE

PROPOSAL AND SCHEDULE OF BIDS

Total of Prices Bid based upon Estimated Quantities for above listed Items 1 through 32 inclusive.

\$277,013.13 Dollars.
(Amount - Figures)

Two Hundred Seventy Seven Thousand, Thirteen Dollars and Thirteen Cents
(Amount - Written)

TIME FOR COMPLETION of this Contract is 90 calendar days.

Quantities are not guaranteed. Final payment will be based on actual quantities.

C 5. BIDDER agrees that the Work will be substantially complete within 75 calendar days after the date when the Contract Time commences to run as provided in paragraph 2.3 of the General Conditions, and completed and ready for final payment within 90 calendar days after the date when the Contract Time commences to run.

BIDDER accepts the provisions of the Agreement as to liquidated damages in the event of failure to complete the Work on time.

C 6. Communications concerning this Bid shall be addressed to:

The address of BIDDER indicated below:

BIDDER NAME Earle Asphalt Company

MAILING ADDRESS PO Box 556, Farmingdale, NJ 07727

C 7. The terms used in this Bid which are defined in the General Conditions of the Construction Contract include as part of the Contract Documents have the meanings assigned to them in the General Conditions.

SUBMITTED on April 24, 2025.

Contact Information

Project Manager: Bill Mead, PE

Business Address: PO Box 556, Farmingdale, NJ .07727

Phone Number: (732) 308-1113 Fax Number: (732) 308-1034

Mobile Phone: (732) 904-0560 Email Address: bmead@earleco.com

**NOTICE OF INTENT TO SUBCONTRACT FORM
(MANDATORY)**

This notice of intent must be completed and included as part of each proposer's proposal. Failure to submit this form will be cause for rejection of the bid as non-responsive.

Please check one of the below-listed boxes:

If awarded this contract, I will engage subcontractors to provide certain goods and/or services.

ALL PROPOSERS THAT INTEND TO ENGAGE SUBCONTRACTORS MUST ALSO SUBMIT A COMPLETED AND CERTIFIED SUBCONTRACTOR UTILIZATION PLAN WITH THEIR BID PROPOSALS. PROPOSERS SHOULD ALSO SUBMIT A NEW JERSEY BUSINESS REGISTRATION CERTIFICATE FOR EACH SUBCONTRACTOR AS WELL AS ANY LICENSES HELD BY SUBCONTRACTORS WITH THEIR BID PROPOSAL.

If awarded this contract, I do not intend to engage subcontractors to provide any goods and/or services.

**ALL PROPOSERS THAT DO NOT INTEND TO ENGAGE SUBCONTRACTORS MUST ATTEST
THE FOLLOWING CERTIFICATION:**

I hereby certify that if the award is granted to my firm and if I determine at any time during the course of the contract to engage subcontractors to provide certain goods and/or services, I will submit the Subcontractor Utilization Plan for approval to the Business Administrator or his legal representative in advance of any such engagement of subcontractors. Additionally, I certify that in engaging subcontractors, I will make a good faith effort to achieve the subcontracting set-aside goals established for this contract, and I will attach to the plan documentation of such efforts.

Respectfully submitted by:

Jacqueline Vale
Signature

Jacqueline Vale
Name, typed or printed

Managing Member
Title

Black Rock Enterprises, LLC
Name of Firm

1316 Englishman Road, Old Bridge NJ 08867
Business Address/Zip

732-967-6400
Telephone

732-967-6402
Fax

PROVIDE A LIST OF SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY IF APPLICABLE)

NAME Straight Edge Striping
ADDRESS 201 Wilton Avenue
CITY, STATE, ZIP Middlesex NJ 08846
TELEPHONE: 732-300-3001
FAX NO. 732-302-3004
TRADE Striping
LICENSE NO. Corporate information attached

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
1.	Breakaway Barricades		
	20 Units	\$ <u>.01</u> /UN Figures	\$ <u>.20</u> Figures
	WRITE UNIT PRICE BID: <u>one cent</u>		PER UNIT
2.	Drums		
	50 Units	\$ <u>.01</u> /UN Figures	\$ <u>.50</u> Figures
	WRITE UNIT PRICE BID: <u>one cent</u>		PER UNIT
3.	Traffic Cones		
	50 Units	\$ <u>.01</u> /UN Figures	\$ <u>.50</u> Figures
	WRITE UNIT PRICE BID: <u>one cent</u>		PER UNIT
4.	Traffic Directors, Flagger		
	240 Man Hours	\$ <u>87.28</u> /MH Figures	\$ <u>20,947.20</u> Figures
	WRITE UNIT PRICE BID: <u>Eighty-Seven Dollars and Twenty-Eight Cents</u>		PER MAN HOUR
5.	Construction Signs		
	150 Square Feet	\$ <u>1.00</u> /SF Figures	\$ <u>150.00</u> Figures
	WRITE UNIT PRICE BID: <u>one dollar</u>		PER SQUARE FOOT

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
6.	Fuel Price Adjustment		
	1,200 Dollars	\$ 1.00 /DOL Figures	\$ 1,200.00 Figures
	WRITE UNIT PRICE BID:	One Dollar and Zero Cents	PER DOLLAR
7.	Asphalt Price Adjustment		
	2,200 Dollars	\$ 1.00 /DOL Figures	\$ 2,200.00 Figures
	WRITE UNIT PRICE BID:	One Dollar and Zero Cents	PER DOLLAR
8.	Clearing Site (<i>Maximum Bid of \$25,000.00</i>)		
	1 Lump Sum	\$ 25,000.00 /LS Figures	\$ 25,000.00 Figures
	WRITE UNIT PRICE BID:	Twenty five thousand dollars	PER LUMP SUM
9.	Removal of Sidewalk		
	100 Square Yards	\$ 9.00 /SY Figures	\$ 900.00 Figures
	WRITE UNIT PRICE BID:	Nine Dollars	PER SQUARE YARD
10.	Removal of Curb		
	150 Linear Feet	\$ 9.00 /LF Figures	\$ 1,350.00 Figures
	WRITE UNIT PRICE BID:	Nine Dollars	PER LINEAR FOOT

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
11.	Excavation, Unclassified (if and where ordered)		
	200 Cubic Yards	\$.01 /CY Figures	\$ 2.00 Figures
	WRITE UNIT PRICE BID: <u>one cent</u>		PER CUBIC YARD
12.	Excavation, Unclassified, Test Pits (if and where ordered)		
	10 Cubic Yards	\$.01 /CY Figures	\$.10 Figures
	WRITE UNIT PRICE BID: <u>one cent</u>		PER CUBIC YARD
13.	Dense-Graded Aggregate Base Course, 6" Thick (if and where ordered)		
	250 Cubic Yards	\$.01 /CY Figures	\$ 2.50 Figures
	WRITE UNIT PRICE BID: <u>one cent</u>		PER CUBIC YARD
14.	Hot Mix Asphalt Milling, 3" or Less		
	3,600 Square Yards	\$ 2.00 /SY Figures	\$ 25,200.00 Figures
	WRITE UNIT PRICE BID: <u>Seven dollars</u>		PER SQUARE YARD
15.	Hot Mix Asphalt 9.5M64 Surface Course, 2" Thick		
	450 Tons	\$ 150.00 /TN Figures	\$ 67,500.00 Figures
	WRITE UNIT PRICE BID: <u>one hundred fifty dollars</u>		PER TON

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
16.	Hot Mix Asphalt 19M64 Base Course, 4" Thick (if and where ordered)		
	150 Tons	\$.01 /TN Figures	\$ 1.50 Figures
17.	Reconstruct Inlet, Type B, Using New Casting		
	15 Units	\$ 3,000.00 /UN Figures	\$ 45,000.00 Figures
18.	Reset Manhole, Storm Sewer, Using New Casting		
	15 Units	\$ 1,000.00 /UN Figures	\$ 15,000.00 Figures
19.	Concrete Sidewalk, 4" Thick		
	100 Square Yards	\$ 149.30 /SY Figures	\$ 14,930.00 Figures
20.	Concrete Driveway, Reinforced, 6" Thick (if and where ordered)		
	150 Square Yards	\$ 150.00 /SY Figures	\$ 22,500.00 Figures

WRITE UNIT PRICE BID: One cent _____ PER TON

WRITE UNIT PRICE BID: Three thousand dollars _____ PER UNIT

WRITE UNIT PRICE BID: one thousand dollars _____ PER UNIT

WRITE UNIT PRICE BID: one hundred forty nine dollars and
thirty cents _____ PER SQUARE YARD

WRITE UNIT PRICE BID: one hundred fifty dollars _____ PER SQUARE YARD

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
21.	Hot Mix Asphalt Driveway, 3" Thick (if and where ordered)		
	100 Square Yards	\$ <u>40.00</u> /SY Figures	\$ <u>4,000.00</u> _____ Figures
	WRITE UNIT PRICE BID: <u>Forty dollars</u>		PER SQUARE YARD
22.	Detectable Warning Surface		
	10 Square Yards	\$ <u>1,300.00</u> /SY Figures	\$ <u>13,000.00</u> _____ Figures
	WRITE UNIT PRICE BID: <u>one thousand three hundred dollars</u>		PER SQUARE YARD
23.	8" x 18" Concrete Vertical Curb		
	150 Linear Feet	\$ <u>50.00</u> /LF Figures	\$ <u>7,500.00</u> _____ Figures
	WRITE UNIT PRICE BID: <u>Fifty dollars</u>		PER LINEAR FOOT
24.	Traffic Striping, Long-life Epoxy Resin, 4" Wide		
	175 Linear Feet	\$ <u>2.04</u> /LF Figures	\$ <u>357.00</u> _____ Figures
	WRITE UNIT PRICE BID: <u>two dollars and four cents</u>		PER LINEAR FOOT
25.	Traffic Markings, Thermoplastic		
	300 Square Feet	\$ <u>6.11</u> /SF Figures	\$ <u>1,833.00</u> _____ Figures
	WRITE UNIT PRICE BID: <u>six dollars and eleven cents</u>		PER SQUARE FOOT

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
26.	Regulatory and Warning Signs (If and where ordered)		
	50 Square Feet	\$ <u>49.50</u> /SF Figures	\$ <u>2,475.00</u> Figures
	WRITE UNIT PRICE BID: <u>Forty nine dollars and fifty cents</u>		PER SQUARE FOOT
27.	Reset Water Valve Box		
	15 Units	\$ <u>20.00</u> /UN Figures	\$ <u>300.00</u> Figures
	WRITE UNIT PRICE BID: <u>Twenty dollars</u>		PER UNIT
28.	Reset Gas Valve Box		
	5 Units	\$ <u>30.10</u> /UN Figures	\$ <u>150.50</u> Figures
	WRITE UNIT PRICE BID: <u>Thirty dollars and ten cents</u>		PER UNIT
29.	Topsoil, 4" Thick		
	500 Square Yards	\$ <u>5.00</u> /SY Figures	\$ <u>2,500.00</u> Figures
	WRITE UNIT PRICE BID: <u>Five dollars</u>		PER SQUARE YARD
30.	Fertilizing and Seeding, Type A-4		
	500 Square Yards	\$ <u>1.00</u> /SY Figures	\$ <u>500.00</u> Figures
	WRITE UNIT PRICE BID: <u>one dollar</u>		PER SQUARE YARD

PROPOSAL AND SCHEDULE OF BIDS

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
31.	Straw Mulching 500 Square Yards	\$ <u>1.00</u> /SY Figures	\$ <u>500.00</u> Figures

WRITE UNIT PRICE BID: _____

PER SQUARE YARD

32. Allowance for Work Not Specified

1 Allowance	\$ <u>15,000.00</u> /AL Figures	\$ <u>15,000.00</u> Figures
-------------	------------------------------------	--------------------------------

WRITE UNIT PRICE BID: _____ Fifteen-Thousand Dollars and Zero-Cents

PER ALLOWANCE

PROPOSAL AND SCHEDULE OF BIDS

Total of Prices Bid based upon Estimated Quantities for above listed Items 1 through 32 inclusive.

\$290,000.00

Dollars.

(Amount – Figures)

Two Hundred Ninety Thousand Dollars and zero cents

(Amount – Written)

TIME FOR COMPLETION of this Contract is 90 calendar days.

Quantities are not guaranteed. Final payment will be based on actual quantities.

C 5. BIDDER agrees that the Work will be substantially complete within 75 calendar days after the date when the Contract Time commences to run as provided in paragraph 2.3 of the General Conditions, and completed and ready for final payment within 90 calendar days after the date when the Contract Time commences to run.

BIDDER accepts the provisions of the Agreement as to liquidated damages in the event of failure to complete the Work on time.

C 6. Communications concerning this Bid shall be addressed to:

The address of BIDDER indicated below:

BIDDER NAME Black Rock Enterprises, LLC.
MAILING ADDRESS 1316 Englishtown Road
Old Bridge NJ 08857

C 7. The terms used in this Bid which are defined in the General Conditions of the Construction Contract include as part of the Contract Documents have the meanings assigned to them in the General Conditions.

SUBMITTED on

24 April 2025

Contact Information

Project Manager: Manuel Da Rocha
Business Address: 1316 Englishtown Road
Old Bridge NJ 08857
Phone Number: 732-967-6400 Fax Number: 732-967-6402
Mobile Phone: _____ Email Address: info@blackrocknj.com